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ENGLISH VERSION

Instruction : Write answers of both sections in main answer sheet.

SECTION -1

1 MCQ.: 20

(1) Which type of deposits is known as base of the credit

creation ?
(A) Primary Deposit (B) Secondary Deposit
(C) All Deposits (D) None

(2) The banking facilities can be avail 24 hours x 7 day

using
(A) Net Banking (B) Tele Banking
©) ATM D) Al

(3) The full form of PIN ............
(A) Permanent Identification Number
(B) Pincode Number
(C) Permanent Account Number
(D) None
4) The ATM is used for the purpose )
(A) Depositing money (B) Withdrawal of money

(C) Balance enquiry (D) All
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(5) The Banking profession is dependent on_
(A) Deposit (B) Cheque Book
(C) Pass Book (D) Profit

(6) Main income of the Bank is
(A) Interest of loan
(B) Commission
(C) Income of investment
(D) Profit of RBI

(7)  Which are the instrument ............
(A) Promissory Note (B) Bill of Exchange
(C) Cheque O Al

(8) Credit creation is the important function of
(A) Commercial Banks
(B) Co-operative Banks
(C) Reserve Bank
(D) Regional Rural Bank

9) The amount of cheque is compulsory deposited in

account only.
(A) Bearer cheque (B) Order cheque

(C) Open cheque (D) Account payee cheque
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(10) The definition of endorsement is available in Section

(A) N.I. Act 1881 (14) (B) N.I. Act 1881 (15)
(C) N.I. Act 1881 (16) (D) N.I. Act 1881 (17)

(11) By which method, negotiable instrument can be

written ?

(A) Using printer

(B) Using typewriter

(C) Using ball point pen
D) All

(12) If commercial banks create unlimited credit creation,

then
(A) economic development becomes credit
(B) inflation create
(C) recession create
(D) establish economic stability

(13) When was the cheque system established ?
(A) In 17%h century (B) In 18th century

(C) In 19%h century (D) In 20th century
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(14) Type of cheque

(A) Bearer cheque (B) Crossed cheque

(C) Order cheque (D) Above all

(15) An endorse the document i1s called

(A) Endorser (B) Endorsee

(C) Endorsement (D) Above all

(16) Which detail not available in cheque ?

(A) Date B) Amount

(C) Signature (D) Photograph

(17) In which type of card even there is not balance one can

spent/withdraw amount ?

(A) Debit card (B) Credit card

(C) Both (D) None

(18) Commercial bank create credit by .............

(A) Providing overdraft facility

(B) Purchasing securities

(C) Daiscounting bills

(D) Above all manners
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(19) For credit creation there should be .............
(A) Cooperation of all commercial banks
(B) Enough supply of cash
(C) No hindrance in deposits
(D) Above all

(20) Type of Endorsement_
(A) Blank endorsement
(B) Full endorsement

(C) Restrictive endorsement

(D) Above all

SECTION - 11
1 What is credit creation ? Explain the methods of 10
credit creation.
OR
1  Explain limitations of credit creation. 10
2 Give meaning of cheque. Discuss its types. 10
OR
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2  Give meaning of endorsement. Describe its types. 10

3  Explain meaning and features of Negotiable

Instrument Act.

OR

3 Describe Promissory Note.

4 What is crossing ? Explain its various types.

4  Explain importance of technology in banking.

OR

5 Write short notes : (any two)

ey
)
3)
4)
()

ATM.

Core Banking Service
Credit Card

Net Banking

Liquidity v/s Profitability Principle.
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